Name: ﬁ l Uj-’ bnS

March 2374, 2015.

Math 2401; Sections K1, K2, K3.
Georgia Institute of Technology

Exam 3

1 commit to uphold the ideals of honor and integrity by refusing to betray the trust bestowed upon me
as a member of the Georgia Tech community. By signing my name below I pledge that 1 have neither

given nor received help on this exam.

Pledged:
Problem | Possible Score | Earned Score

il 20
2 20
3 20
4 18
5 16
6 6

Total 100

Remember that you must SHOW YOUR WORK to receive credit!

Good luck!




1. [20 points| Compute the double integral:

/Lysin(zy) dA,

where R is the rectangle in the zy-plane given by 1 <z <2;0 <y < 7.

S: X? y%m(y)dx»o\j = S: -o»s(g)\: (f\)l (391-3\-,1@*0\%\0;;\9
(6.~ shup)

- 3‘0“' (—cps (%y) . enS(j)) Ay (7p's. ~2Ma9u4h&9
_< | " Arivakved
o swm(y) +9mg>\o (eyﬁ.-onhdmvamu)

= - ;—_ S (27T) + -SiﬁqW(O) + 4 () — B (0)

; CZpﬁ.-?\‘mlaMmmf)



I

2. [20 points] Find:

2 vz pln(3z) =
/ / / e "W dydz dz.
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3. [20 points] Consider the integral:

9 9
/ / y cos(z?) dz dy.
0 Jy?

a). Sketch the region of integration,
b). Compute the integral (you may want to switch the order of integration if you cannot compute it as

given).
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4. [18 points] Sketch the region of integration and compute the integral:

/ / e dA,
R

where R is the region in the z, y-plane bounded by the semicircle z = y/4 — y? and the y-axis.
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5. [16 points| Using cylindrical coordinates, set up the triple integral to compute the volume of the solid
enclosed by the two paraboloids:
z=4-2° —y%

z=2"+y,

pictured below. You do not have to compute the value of the integral.

/,z=4—x2—y2 (2pts.)

z=r2 (3pts.)
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6. [6 points] Use polar coordinates to set up iterated integral(s) to evaluate

/ V2 +y?dA,
R

where R is the region in the zy-plane pictured (shaded) below, where both curves bounding the region
are circles. You do not need to compute the value of the integral

Hint: You may want to treat the right and left parts of the region separately, which would lead to two
iterated integrals.
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